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Directions: Identify the degree of each monomial.
1. 3xy? @ 2. 10 (o)

Directions: Add or subtract., Write your answer in standard form.

3. Bx2—x+1)+ Bx}-x-3) 4, (x*+x)—-(x*—x2-1)
SRE-X++3%%-x -3 Yyt -3+ x* +

@%x‘-@ @-x3+ Z{‘«D

5. The cost of producing x units of a product can be modeled by C(x) = 1—10x3 — x2? 4 25. Evaluate

C(x) for x = 15, and describe what the value represents,

{ 3
CUS\: E(IS) —(15\1+'2_§' J\'he. CCB\' of mcmuﬁackunng
C(15)=137.5 - IS umi¥sas 8)37,50

Directions: 6&raph each polynomial function on a calculator.

6. f(x)=—x*+4x*+1

Describe the graph: frorny lefh Yo man}! increcse deccease, incsense, dnen decrease
agonn . C K=Q%s »2hmeg

X- Intercept(s): (“ 2.00b, O\,(Z Olo, O\,

i

Leading coefficient:

Degree: L*

5

Number of terms:

Name of polynomial: Quor‘rig rinemaa



7. f)=x*+2x*+1

Describe the graph: from Yeftio rush\- . Increase decrease shgntly_\ncrease elei=tlal
CCessES X ~axis | | hene

X- Intercept(s): (*' 2.21, 0\'

Leading coefficient: \

Degree: :7)
Number of terms: 5
Name of polynomial: L0 Arinomia)

Directions: Find each product.

8. xy(2x*y + x*y? — 3xy3) 9, (x®+x2+1)(Bx*+6x-2)
5 3
2y Ky -3 R g S S NE e

10. (2xy + 5y)(3x% — 4xy + 2y?)




Directions: Use synthetic division to evaluate the polynomial for the given value.

19, P(x) = x*+3x3 —x?+2x -6 forx =3 20. P(x) = -3x2+10x — 4 forx = -2
_3_’ I 3 -1 2 -0 -*_J -3 10 -4
3 18 51 159 b 732
| L 1+ 53 U532 -3 b |3k
xX-3 K+2

Directions: Determine whether the given binomial is a factor of the polynomial P(x).

21, (x —4); P(x) = x? + 8x — 48 22‘. (x+5);P(x)= 2x?—6x—1
41 8 -ug 5] 2 -L -
T -16 80

| I l& 2 b 19
Y+12- 2x-10+ 13

X+5

?(43?—‘ O, so (x—tﬂ 'S
G facror of P(x)= X"+ 8% -M8

P(-5) % 0,50 (¥*5)
S ‘:‘E’._t c Facror of
Pix)= 2xF-bx-)




Directions: Divide by using long division.

11, (6y2+ 13y —-8)+ 2y —1) 12, (8x* +6x%—2x+4)+ (2x—1)
3y+g KRy Na v
an-'l \—Z:57'+l33"8 - 2%~ l g)(q'POX:-Hoxz-'ZX*L’
@ ~ QM
by’r3y S —
' lou—& 4X“+bX 3 9 tytar s E
_“a:))' N a7 2% Yy IE;
: O 8)(2"2)(
S - oD Sk b S
| 21 /s
13, (2y* + 5y° + 2y* +6y) + (2y) 14, (x®—5x*+2x~7)+ (x +2)
2
Z 4+5 3+2 2+lo . X “7X+ll0
237297y T XA2 ) RB-5K* w24 - F

2 2v 2 2
Y 3 bu h| - X3y 3%

— 2 _
*IXE 1A

o ex-#

Directions: Divide by using synthetic_division. —.l-(?-—’ﬂ;'-%
15. (3x2 —8x +4) + (x—2) 16, (5x% —4x +12) = (x + 3)
2] 3 -8 -3] 5 -4 12
o -4 15 57

2 -2 |o. 5 -19 |9

X+3

17, (7x+9x* + 3) + (x — 1) 18. (6x° —3x2+x—4)+ (x—1)
LA U 1] Lo o-3 I -4

9 2
b L b 3 4
120 L b b 3 4]0

+ 7 + 5 Y
%2 -] @ﬁbx?’ﬂox 2%+




Factor each completely.

1)(280xy— IOSxX— 1203° + 45 y)
35% (84~ 3)—153(3’3—3)
(35X -1549)(8y4-3)

B Ox-39)84-3))

3) 251% —20n + 4

(5N -2)(5n-2)

5)@1}3 + v% 2v + 1)

VE(2v 1)+l (2v+)

2) x* +14x +45

>

4) x*+27x 034 b3=(q+b)(qz-qb+b1 )
KO 42T) (o) 12 (0E) ']
3
(X\ (3) X(X:%—\_(XL-BX +@

G =X
b=73

6) 64n° + 112n + 49

@n *73(’8% + 7\

7) —8x% +27 02 4%? =‘(a+b3(qz'q‘°*b23 8) 7x* + x*

(-26+ (%)’

X2 (Tx+1)

0=-2X (—2x+3)[(-zx\‘- (23} + 3‘]

o= 3

@2—;4'3)(%7% EX*@

9) 24> +a—-15

PO (2e payion-d)
20(0+3)-5(0+3)

_5) G v

10) 3a® - 164° + 200
4(3a*jbq +2.0)

? ]
—1&%?21' S(, ) G- Ba)@@cnzo)

Sa(a-2)-10(a-2)

@éq —)0)(&@




